INE=YCIYLSES

( g ™
LRI, HAL e
7|
o = FEEDBACK
- y
8 )
ZH A B AN AE,
o=t A 2 A
SO iy A 8 ARnEA
. y
8 )
218 S] M9 CiR0lL PPT, B Y HE
. y
8 )
ZIM|R] =Mz met PPT, 4| 9 CIARl, SR
. y
a )
e Azaed
- y







244 24

- axB ol LHX]/\“‘,;“ B oo
TASES — va = - PL
6 = 3 = ol g3} B4 57

- A X 23 Al F2E0| B S F p = 49N, L =100mm

- A3 BAES pajsty TR EO| ol Eri2S 3 [ = 4x63/12 = 72mm? Q) Bx)) AF83}o] =R
AFEa} Rk, 7B o B ke Sl e 7 Be) HE-SollSsh, 07piMe) 7xE2) sl 4.9 (N) x 108(mm3)

E

~3x d(mm) x 72(mm*)

1745.01
1890.43
1620.37

- X)Z3 H4~(2) : 0 1745.01
0011 } : I 1 1 I v 1 1 T T T ‘11g
.01 .01 2.01 z.00 4.01 5.01 €01 1745.01

Pericd (sec)
=) 0.085~0.1s0)| 4] St Am e 7}4 ¢ X ) 1745.01
18 =9]2 0.085~0.1s n]}H 7!




“2=¥d

30mm

32mm

35mm
31mm
2 A7) g8 x
HH 2X} R ETL T

33mm

32 2mm
= ok 53 4%9] ¥ 9| TFA




|2

g BRIgol 2 At 3

FoldzE mEe 2.

ofojCjof WM

Folo] 22| 1Y oF

Zo| Yo} 418
Sol ZEfo| ES S8 Fole
o] Ag XA}2 B

7

Y3} FolZ o] 3 0.7golM THl S %

Fo| WS N2 A2 Bl
8 Zo| 423 T} 2 2ol
Welo 2 57

Sol

Fo| AlE of2igol Folo} Zet
o]ER B3l YA Frj

Alo] W45 x-}o] 0.7gol| A
ot fE s

3ol 315 B20 Bk g A




)5S mjol oto|c)of
DHary =% 0.7g T MY

=

1.5(kg) x9.8(m/s?) x 75/170(cos) = 6.49N
S =028 0.7 x6.49=4.54N

o 2 4y

AV

0.7gol|A] 8% E-22] & 0. 7x 9.8 x1.5 = 10.29N
0.7gol|l A o] 3 10.29 - 4.54 - 0.57 = 5.18N

ARE3} Alo] o] o2k 15N
518 (N) /1.5 (N) = 2k 345 0|22
47Mo) g AFg3lo] 0.7golM 2] B = !

525 A
oz B9

815 £20] o] 54}

3= 4,9(N) x 75/170(cos) = 2.16N b}EH 4.9 (N)x
55/170(cos) = 1.59N Wk 216 - 1,59 = 0.57N

13
°




OF2 7HA

235 it

F2E e Al AEE A7} upEstnd X7

MRS v oflx| =2 44

£ 2,3%0] 4173

ABE Fohg} 317) Sl8) 2,358 oba Wnlz A






